Unit 3 Lecture 1 Slide 70


As this slide shows, entities can also be identified through a relationship


Notice the situation represented in the current slide.  We have two entities. An entity called bank and an entity called account.  A bank may have different accounts and within each bank the accounts are unique. However, there may be accounts with the same number in other branches of the same bank.  One of the questions that we need to answer is how can we differentiate the different instances of the accounts?  Moreover, different banks may have accounts with the same number.  

Notice that the account number by itself can only be used within a single branch to differentiate one instance from another.  To be able to differentiate the accounts of one branch from another branch and the accounts of one bank from another bank, we need to have a composite UID in the entity account.  In this case, the UID has three attributes.  Yes!  I said three attributes.   The attributes making up the UID of the account entity are: the account number, the branch number and the bank number.  If we look at the entity account, there are only two attributes.  Where did the other attribute come from? 

The third attribute is indicated implicitly in the diagram.  Notice that we have written a bar across the relationship line.  This bar, call an UID bar, indicates that the UID of the bank is also part of the entity account.  That is why I said previously that there were three attributes making up the UID key.

As we will see later on, this situation always occur whenever we have a one-to-many relationship or a parent-child relationship between entities.  In this case, the bank (the parent) has many accounts (the children).  This way, we can tell apart not only the accounts within the branches but also the accounts within the different banks.

